


\‘.QL“A,., GENIUSPOWERTECHNOLOGY INC.,

Catalog

Physical LAYOUL ...aaaaenaaaanneeeceneceieccececcccceccccccccccceecesPl

Dim. of MOuNting rack. ... eoeeeecaneneeecoeaeeecccecceccccceceaP2
Illustration of Cooling System

Configuration of Motherboard and Heat Pipe........P3- P6
HDD Bracket Installing Instruction..........cceeeeeeeeee.P7- P9
Screw bag detail list......aaeaaaaaaenaaaaennaccnneccnnccenacceeees.P10
Standard packing.......cceeeeeceeeecennecceeecccecncccccacceeeascP11- P12
Bulk Packing in Pallets.........caaaeeeeeaaaecaeeeeaaaeeeee...P13- P14
Container Loading........cceaaaeeneecaenecceeccceccccceceess.P15- P16

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl 1{%‘,[& ICP &% 1§ ICP & 05043868 }



1 US P
I US POy
oV Ly

.8

@) GENIUSPOWERTECHNOLOGYINC.,

L4

R

<%

by

£L<1

P1
Physical Layout:
oK)
sEmo[ T
0/=|,® © ©0 O
—ATX Stardard Back Window
O
Wireless LAN card J]ﬁ‘_ﬁ

o]
(@)
o)

[ 2smp
il

HDD-Bracket

183,9

Heat pipe Bﬁ %

——VIA SPM/B)

191
°38
NAME QTY
2.5HDD lpcs
- Cover HDD Bracket Ipcs
CF-Card Ipcs
N
| | ~T—FRONT-PANEL | HBD LED Ipcs
|| Power LED lpcs
| | ﬂ 170%170Mother Ipcs
| koord
Wireless
_ HDD LED Ipcs
CF-Card Power LED LAN card

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl 1{%‘,[& ICP &% 1§ ICP & 05043868 }



1 US P
gaUsPo,

i,@ﬁ,, GENIUS POWERTECHNOLOGY INC.,
P2

Dim. of mounting rack:

183,9

78 78 12 m%
1

B,C6

N[ ] -8
< B =0
8,25
Left mounting rack
183,9
12 78 78 m
o L]
o] (1 s
- s
/5/
8,25 N
©

RightT mounting rack

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl 1{%‘,[& ICP &% 1§ ICP & 05043868 }



N

iaﬁj GENIUS POWER TECHNOLOGY INC.,

e

P3
Illustration of Cooling System

Configuration of Motherboard and Heat Pipe

Heat pipe EN

Heat pipe C3

Heat pipe CN
Heat pipe 9

Heat pipe b5

Heat pipe C7

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved. 5% ['EE;LFP jl'ﬂﬁ[ﬁ ICP &% 1§ ICP & 05043868 }



_guUsro v,
P>

i_,@_, GENIUSPOWERTECHNOLOGY INC.,

<&

P4
Copper fastener Mounting Way:

Heat pipe 5

M3*8 umbrella-
headed screw

Spring

HP5 Copper fastener
Motherboard

CPU plastic fastener Mounting Way:

Heat pipe 9

I5-CPU plastic fastener

Motherboard

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved. =% fﬁﬂﬁ' i"?‘lf‘ ICP &% 1 ICP & 05043868 £)



\‘..J@A,,, GENIUSPOWERTECHNOLOGY INC.,

P5
ol o . o
ol [ © = of
Heat pipe 5 Heat pipe 9 Heat pipe C3
% E

o o "] 5

Heat pipe C7 Heat pipe CN

O m O
_ o
Heat pipe EN Heat pipeM|

HPS Copper I5-CPU plastic V5-CPU plastic
fastener&Sping fastener fastener

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁ[ﬂ ICP &% 1§ ICP & 05043868 }



KR

P

by

¥

@g,‘, GENIUSPOWERTECHNOLOGY INC.,

P6

Mother board HP Suitable Mont Tool
INTEL PWI-8552
Heat pipe 5 HP5 Copper fastener
COMMELL LV-677
IBASE MB896F
IBASE MB899
Heat pipe 9 I5-CPU plastic fastener
IBASE MB879
COMMELL LV-675
VIA C3 Heat pipe C3 V5-CPU plastic fastener
VIA C7 Heat pipe C7 V5-CPU plastic fastener
VIA EPIACN Heat pipe CN V5-CPU plastic fastener
VIA EPIAEN Heat pipe EN V5-CPU plastic fastener
VIA EPIA Ml
VIA EPIA SP
Heat pipe Ml V5-CPU plastic fastener
VIA EPIAM
VIA EPIA ML

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,

All Rights Reserved.

EES '% EL yﬂﬁﬂ ICP &% :# ICP & 05043868 £}




<1 US P
SN OW
o¥ “y

Ao Y
\i‘gﬁ, GENIUSPOWERTECHNOLOGY INC.,

L,

P7

HDD Bracket Installing Instruction:

Motherboard Type HDD Bracket Installing Instruction Drawings for Insturction

VIA C7

VIA EPIA CN

VIAEPIAEN Put the HDD bracket onto the inverse of the

IBASE MB896F top cover and align it to the holes marked Drawing 1

with "A" then fix it.
COMMELL LV673

COMMELL LV-675

IBASE MB899

VIA EPIA Ml

VIA EPIA SP

VIA EPIAM

VIA EPIA ML

VIAC3 Put the HDD bracket onto the inverse of the

IBASE MB879 top cover and align it to the holes marked Drawing 2

with "B" then fix it.
COMMELL LV671Z

COMMELL LV671

COMMELL LV699

IBSE MB890

INTEL PWI-8552

Put the HDD bracket onto the inverse of the
COMMELL LV-677 | top cover and align it to the holes marked Drawing 3
with "D" then fix it.

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁ[ﬂ ICP &% 1§ ICP & 05043868 }




<1 US P
SN OW
o¥ “y

i{,i“g: GENIUSPOWERTECHNOLOGY INC.,
Drawingl:
o Co o
co
C )
Do De
BO BO
AD—
Co A" e
DO
OBO De° o
—oA Bo Ao
(o=
o000 B
O O O O
O O O O
O O O O
—=0 =
Drawing2:
o Co o)
CO
C )
Do D o
B’ B
¢ D .
OO0OO
c° C
OO0OO
0000 =
OO0OO oB D° o
( °A B A
@T

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,

All Rights Reserved.

EES fﬁ Rl ﬂﬂﬁﬂ ICP &% 1§ ICP & 05043868 )

P8



v

g;i"l: GENIUSPOWERTECHNOLOGY INC.,
P9
Drawing3:
O Co O
C @]
Di D
’ ’ g B
A OO00O
Ao
C c OO00O
OO00O
. D @@QQQ
O Df O
oA Bo Ao

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁ[ﬂ ICP &% 1§ ICP & 05043868 }



<1 US P
SN OW
o¥ “y

i@g,: GENIUSPOWERTECHNOLOGY INC.,
P10
Screw bag detail list:

Mounting position Screw name Screw QTY Screw picture

Cover M4*12 hexagonal screw 4PCS

CF-Card M3*5 umbrella-headed screw 2PCS

mounting rack 6-32*8 sunk screw 6PCS

2.5"H.D.D M3*4sunk screw 4PCS

Mother board M3*5 umbrella-headed screw 8PCS

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁ[ﬂ ICP &% 1§ ICP & 05043868 }



i@gﬁ, GENIUSPOWERTECHNOLOGY INC.,
P11

Standard packing:

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁﬂ ICP &% 1§ ICP & 05043868 }



\Q@iﬁ, GENIUSPOWERTECHNOLOGY INC.,

P12
ltem Name Measme

1 Accessory box (L)270*(W)90*(H)50mm

2 EPE (L)215%(W)95 = (H)64mm

3 Side EPE (L)200*(W)120*(H)10mm

4 | GS-L05 (L)184*(W)191*(H)75mm

5 Unit Packing box (L)291 x(W)116*(H)286mm

6 Handle

7 Unit Packing Clapboard (L)600*(W)300*(H)280mm

8 EPE Sponge cushion (L)30*(W)30*(H)15mm

9 Outer Packing carton (L)640*(W)340*(H)308mm

Name Average bursting strength Max.weight inner

Unit Packing box 8.0kg/cmi 8kgs
Outer Packing carton 17.0kg/cml 35kgs

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl 1{%‘,[& ICP &% 1§ ICP & 05043868 }




@g,‘, GENIUSPOWERTECHNOLOGY INC.,

KR

P

by

¥

Bulk Packing in Pallets: P13
)
; \ /r
N . [ /.? -
[ // X . /./ e
t\ /L/ t\ //j_[
'~ \::/L

_ 150
_ 130

® ©)

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,
All Rights Reserved.  [E% fﬁ Rl ﬂ'iﬁﬂ ICP &% 1§ ICP & 05043868 }



"mﬁﬁv GENIUS POWERTECHNOLOGY INC.,

P14
GS-LOJ(Aluminum):
ltem Measurement QTY SHIP VIA G.W.
1 (L)650*(W)350*(H)320mm 5 PCS SEA/AIR 16.5kgs
2 (L)1000*(W)800 * (H)1090mm 45PCS AIR 154 .5kgs
3 (L)1000%(W)800*(H)1710mm | 75PCS SEA 241 .5kgs

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,

All Rights Reserved.

EES '% EL yﬂﬁﬂ ICP &% :# ICP & 05043868 £}




P15

Y GENIUS POWER TECHNOLOGY INC.,

s 04

ot

s
{
¥,

NS Poy
g;' P
¥ @
e

Y,

ss—-iillllllva
' 4 A5 S\ % S\
&

¢

_«_«s

WA

Container Loading:
|

K

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,

B il'ﬂfk‘,ﬂ ICP &% 1§/ ICP & 05043868 %)

Fi

fI

!

All Rights Reserved.




"mﬁﬁv GENIUS POWERTECHNOLOGY INC.,

P16
ltem Name Measurement QTY
1 14 Pallets (L)5600*(W)2000%*(H)2020mm 1260PCS
2 20'"'CONTAINER| (L)5899%(W)2352* (H)2386mm
3 30 Pallets (L)12000%*(W)2000+(H)2020mm 5700PCS
4 40"'CONTAINER| (L)12000%*(W)2350*(H)2380mm

All trademarks are register to their respective owners.@2004 GENIUS POWER TECHNOLOGY INC.,

All Rights Reserved.

EES '% EL yﬂﬁﬂ ICP &% :# ICP & 05043868 £}




